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—AIAES ANAY AT AIE 88,0002 *12CH 1,056
—AIAE WAY AT AIE 66,0002 *3CH 198
02 S3=gHl 10,730 10,730 0
OFA 9,600
-HIIRs 700,000 * 122 8,400
+=ER3 100,000& «12& 1,200
OXNS XAl 130
-28ot= 30,0002 1CH 30
-SESEIXIE 100,000 *1CH 100
Oxgedgz 1,000
-A83E 500,000 1CH 500
-XEESXNRNE 500,000 1CH 500
202 04| 4,000 4,000
01 2LHA LI 4,000 4,000
Odugf =0 4,000
206 M=l 6,200 6,200
01 M= H| 6.200 6,200
O=E333 2Zxd M 3,200
Oogss ==l 3,000
401 Al HIY S CHYI 30,000 30,000
01 A28l 30,000 30,000
OFe=zd & 32 ME 30,000
S3AE ¢ FH |XZe(E22Y) 16,581 15,242 1,339
101 ©1AH| 7,081 6,742 339
M ORNZZ2NSE S 7,081 6.742 339
OS5 - 2014 22 oY
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=P 4,000,000 1CH 4,000
=OUTRNAE 2H(22YH) 17,200 15,000 2,200
201 er23| 16,700 13,500 2,200
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M ZOIBOEA KejL (20
Eel: s NAHL(22H) (CHe: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 Tl 5,000 5,000
IEET 5,000 5,000
oSsLI2Y IRl W2 5,000
401 AIEBI L2 TH] 102,000 102,000
01 Al&H| 102,000 102,000
SHUSHYZ HLRIIES 81
3,000,000 *20H 60,000
OSHULY FREHS &X
600,000& *70H 42,000
= E sz (2&Y) 81,000 81,000 0
201 Ler23| 60,000 60,000
2 s5=34l 60,000 60,000
oJzs &eks 5,000,000& *12& 60,000
401 AlEHIKL =] 21,000 21,000
01 AlZ2H| 21,000 21,000
Os&li2s RAE+ 21,000
HY2HAH(2EY) 95,724 79,744 15,980
Jl23t(22d) 95,724 79,744 15,980
l23tl(2&d) 95,724 79,744 15,980
201 Ler=23 | 24,560 24,680 A120
01 At2teltl 19,848 19,968 A120
OJl2=sHl 8,400
oJl2sgtl 2,688
OtI2H== 15,0003 102+ 123 1,800
OgAH| 60,0002 x1H 116 6,960
2 s5=34l 4,712 4,712 0
Odates 10,0003 x 122 120
OoRER3 3,500
ORdes =2 16,0003 * 122 192
O= AL IR X 900,000 1CH 900
202 04| 36,960 36,960
02 A0 36,960 36,960
OZH04H| 220,000 x14H 123 36,960
203 HF=AY] 9,204 9,204
01 D[22 PR FA| 6,000 6,000
Oudzg « tligs 424 6,000
02 HRAJAHARFAIH| 504 504 0
OXME APIXA HH|
40,0003 x 14 «90% 504
M EAEER=A 2,700 2,700 0
ORMEggexd 250,000 * 122 *90% 2,700
405 KHoHF S| 25,000 8,900 16,100
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